Number of Hoops Required to Win a Game

Handicap Table Score Targets

GOLF CROQUET

H/Cap| 3 4 5 6 7 8 9 10 | 11 | 12 | 13 | 14 | 15 | 16
3 77 | 6:8 | 5:8 | 48| 3:7 | 3:8]3:9(3:10(3:11| 2:8 | 2.9 | 2:9 | 2:10( 2:11
4 86| 77| 68|58 (47| 48|49 |410( 3:8 | 3:9|3:10(3:10(3:11| 2:8
5 85 (86| 77|67 (57 |58]|59|48|49]37]|38]|38]39]3:10
6 84 | 85|76 |77 |67 |68)|58]|58(59]|48]| 49|37 4:10| 3:8
7 7374|7576 77|67 |68 |57 |58]|47]|59]| 48] 49|49
8 83184 |85 |86 |76 |77)|6:7)|68]|57]|58]|58]|47]|59] 48
9 9:3 194|195 |85(86|76|77|6:7|67]|6:8]|57]|58]|58]5:9
10 |10:3|10:4( 84 |85 |75 |86 |76 | 77|67 |67 |6:8]|57]|58]|58
11 |11:3| 83 (94|95 |85 (75|76 |76 |77 |67|67]|68]| 68|57
12 | 82 |93 (73|84 |74 |85|(86|76|76|77|67]|67]|68]|6:8
13 (921103 83|94 (95|85 (75|86 |76 |76 |77|77]|67]|67
14 9:2110:3| 83|73 (84|74 |85 |75 86|76 |77)|77)|77]|6:7
15 110:2|11:3( 9:3 |10:4| 9:4 | 9.5 | 85 | 85 | 86 |86 | 7:6 | 7:7 | 7:7 | 7:7
16 |11:2| 8:2 [10:3| 83 | 9:4 | 84 |95 | 85|75 (86|76 |76 |77 |77

The above is the Croquet Association of Ireland's Golf Croquet handicap table. Itis used

for calculating the required number of hoops based on two players' respective

handicaps. To use the table, simply take one player's handicap on the vertical column,
e.g., 10, and the other player's handicap on the horizontal row, e.g., 6, and find the
intersecting square that tells you the hoop targets for each player, in this example 8:5.

So, the player with the 10 handicap needs to reach 8 hoops before the 6 handicap player
reaches 5 hoops.

Last updated: 6th September 2023

Custodian: Sandy Grieg




